do /dy [mu b]

Ratio to LHCB

H
o
>

0.5

7000

va PP

Sloft Q

CD

I N R B L B B
Y(@) (0.6 < p < 5 GeV)
m LHCB

--3-- Herwig 7.1.1 default
—a4— Pythia 8.301 default

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

L ¢ Sherpa 1.4.5 default _|
|
- [ | - ] [ | u [ | H [ | N
i $ooe o o L R ]
C e .‘ .............. ’ a
E------- EF------ B------ B------- EF------ H------ =------- EF------ £
| | | | | | | | | | | | | | ' |
= : | | ! } I i 1 1 1 | 1 1 1 L | —
L o LA oo —
| ’ --------------- ’ --------------- ’ .............. _’ .............. ‘ ............ N
| I 1 1 PR R TR M L . I’l ’




	Contents
	Page 1


